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1
Decision/action requested

Seek discussion and agreement
2
References

[1]

3GPP TS 32.156 (FMC Model repertoire, v11.0.2)
3
Rationale

The Model Repertoire [1] now defines an attribute property called isNullable (see section 5.2.1.1 of [1]). When this property isNullable is true, this attribute then can hold a NULL value, regardless of the attribute property Type.

This document suggests a clarification (section of the semantics of an attribute, whose property isNullable is true, holding a NULL value.

This document also suggests the representation of NULL in the two Solution Set technologies, e.g. IDL and XSD.

If agreed, Ericsson will provide a CR on [1] to introduce the relevant updates of the isNullable property definition.
4
Detailed proposal

4.1 
Null semantics
A Null in an attribute is equivalent to ``information about the value of the attribute is not available``.

Example 1: 

	e1
	E1 Code Permitted…
allowedValues: 0, 1, 2, 4, 5.

	type: Integer

Multiplicity: 1

--
isNullable: True



When this attribute holds a NULL, it means there is no information about the attribute value. This meaning is not the same as the one when attribute holds the value 0.

Example 2: 

	e2
	E2 Code Permitted…
allowedValues: 0, 1, 2, 4, 5.

	type: Integer

Multiplicity: 0..3

--
isNullable: True



When this attribute holds a NULL, it means there is no information about the attribute value. This meaning is not the same as the one when attribute holds zero number of integer.

  Example 3: 

	e3
	This holds DN of the adjacent e3 node…

	type: DN
Multiplicity: 0..5

--
isNullable: True



When this attribute holds a NULL, it means there is no information about the attribute value, i.e. it does not indicate the presence or absence of adjacent node. This meaning is not the same as the one when attribute holds zero number of DN (which indicates the absence of adjacent node).

4.2 
Representations in IDL

	
	IDL; instances

	Ex 1
	 /**

   * e1; define an out of valid range integer (99) to denote NULL
   */

 typedef int e1;


	Ex 2
	 /**

   * e2; use empty sequence to denote NULL
   */

 typedef sequence<long> e2;


	Ex 3
	 /**

   * e3; use empty sequence to denote NULL
   */

 typedef sequence<string> e3;




4.3
Representations in XSD

	
	XSD; XML documents

	Ex 1
	<!—  XSD -- >
<complexType name="Example_1">

  <sequence>

    --

    --

    <element name="e1" nillable="true" minOccurs="1" maxOccurs = ="1" type="int"/>

    --

  </sequence>

</complexType>

<!—holding a NULL -->
<Example_1>

  --

  <e1 xsi:nil="true"/>

  --

</Example_1>

<!—holding a value 0 -->
<Example_1>

  ---

  <e1>0</e1> 

  ---

</Example_1>



	Ex 2
	<complexType name="Example_2">

  <sequence>

    --

    --

    <element name="e2" nillable="true" minOccurs="0" maxOccurs ="3" type="int"/>

    --

  </sequence>

</complexType>

<!—holding a NULL -->
<Example_2>

  --

  <e2 xsi:nil="true"/>

  --

</Example_2>

<!—holding zero number of integer -->
<Example_2>
  --
  --
</Example_2>
<!—holding two integers -->
<Example_2>
  --
  <e2>2</e2>
  <e2>388</e2>

  --
</Example_2>


	Ex 3
	<complexType name="Example_3">

  <sequence>

    --

    --

    <element name="e3" nillable="true" minOccurs="0" maxOccurs ="5" type="string"/>

    --

  </sequence>

</complexType>

<!—holding a NULL -->
<Example_3>

  --

  <e3 xsi:nil="true"/>

  --

</Example_3>

<!—holding zero number of DN string -->
<Example_3>
  --
  --
</Example_3>
<!—holding four DN strings -->
<Example_3>
  --
  <e3>firstDN</e3>
  <e3>secondDN</e3>
  <e3>thirdDN</e3>
  <e3>fourthDN</e3>

  --
</Example_3>



